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Standard 𝐀𝐀

𝑴𝑴𝑴𝑴.𝑺𝑺.𝑽𝑽.𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺

𝑻𝑻𝑻𝑻𝑻𝑻𝑻𝑻 𝑳𝑳𝑳𝑳𝑳𝑳𝑳𝑳𝑳𝑳𝑳𝑳,𝑴𝑴𝑴𝑴𝑴𝑴𝑴𝑴𝑴𝑴𝑴𝑴𝑴𝑴 𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬𝑬 & 𝑨𝑨𝑨𝑨𝑨𝑨𝑨𝑨𝑨𝑨𝑨𝑨

𝒘𝒘𝒘𝒘𝒘𝒘. 𝒔𝒔𝒘𝒘𝒂𝒂𝒏𝒏𝒂𝒂𝒔𝒔𝒉𝒉. 𝒄𝒄𝒄𝒄𝒄𝒄





(5 marks)

The random variable 𝑅𝑅 has the distribution 𝐵𝐵(30, 0.75). 𝐻𝐻𝑜𝑜: 𝑝𝑝 = 0.75 against the 

alternative hypothesis 𝐻𝐻1:𝑝𝑝 ≠ 0.75. Use binomial tables to find the critical region at 1% 

significance level.

No part of this publication maybe reproduced in any form without the prior written permission from
MR.S.V.SWARNARAJA, (Team Leader, Marking Examiner & Author), email: swa@swanash.com



For the answers please contact:
Email  : swa@swanash.com
Mobile: +94777304755

mailto:swa@swanash.com


𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇 𝑜𝑜𝑜𝑜 𝑂𝑂𝑂𝑂𝑂𝑂𝑂𝑂𝑂𝑂𝑂𝑂 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐

𝑴𝑴𝑴𝑴.𝑺𝑺.𝑽𝑽.𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺𝑺

𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀: +94 777 304755

(𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇 𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿,𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀𝑀 𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸 & 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴)

𝑤𝑤𝑤𝑤𝑤𝑤. 𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠. 𝑐𝑐𝑐𝑐𝑐𝑐
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